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7.2. Honors Geometry DATE: f 1
Target 6C. Use and apply special theorems to prove triangles congruent
: e ] ~ |
- No Choice Theorem: If two angles of one A are congruent to two angles of a second A,
then the third angles are congruent. (Important: Do the two As need to be congruent to apply —
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- The fﬂﬂ[' is easy Think about sumof £sin A & F
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- AAS Theorem: If there exists a correspondence between the vertices of two As such

that two angles and a non-included side of one are congruent to the corresponding

- parts of the other, then the As are congruent.
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- AAS Theorem: If there exists a correspondence between the vertices of two As such
- that two angles and a non-included side of one are congruent to the corresponding
- parts of the :::ther then the As are congruenA/K‘\
_ Yes by AAS.
. . v,
: Examples
. . ™
1) Given: 2G=2K
: ZH=AM
" JH=0OM
_ Prove: AGHJ=AKMO
F
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1) Given: £G=<K
: ZH=M
- JH=OM

Prove: AGHJ=AKMO
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2) Given:AD1BC
ZB=-C 1l
Prove: £1=/2
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3) Prove that the altitudes to the legs of an isosceles triangle are congruent. i
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: 3) Prove that the altitudes to the legs of an isosceles triangle are :::::ngruen‘c.A N 1
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